Name: ___________________________________________________________	Hour: _____________

RTI Angle Relationships TEST REVIEW

1. Find the measure of each angle if the m<HFK=90° and m<HFG=135°. 
    Ray FJ is an angle bisector of <HFK. 
[image: ]
a. m<KFG= ____________	b. m<JFK= ___________


c. m<HFE= ____________	d. m<EFK= ___________
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[image: http://www.howe-two.com/teacher/graphics/Geometry/Angle_Bisector.gif]4. Assume that Ray BD bisects <ABC. If <ABD = 34ᵒ, find: 

m<DBC = _______________




m<ABC = _______________


5. Use the diagram for the following questions. 
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True or false
A.) <CAD  <EAD. 				B.) <CAD  <GAH. 			C.) <FAE  <EAD. 	






Find the measures of the following angles if < CAB = 30ᵒ and m<GAH = 15ᵒ

D.) m<DAC					E.) m<EAD.				F.) m<BAG







G.) m< GAE. 				H.) m<HAB				I.) m<FAB







6. If <FTR = <ABC and <CBD = 27ᵒ, find m<FTR. 

F
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7. Find x. 


5x -20
2x + 10









8. Find x. 


 14x + 8

7x + 4












[image: http://www.quia.com/files/quia/users/petetm/right-angle.bmp]9. Find x. 
X + 15
2x

















10. Find x. 


3x - 10

12x + 25
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12. 









13.  If w //v, give the justification for each statement. 

[image: ]You must use only the following relationships: 
Corresponding angles are congruent
Alternate interior angles are congruent
Alternate exterior angles are congruent
Consecutive interior angles are supplementary
Linear pairs are supplementary
Vertical angles are congruent

a. <2<12		b. <8<14 			c. <5<13	



d. <10<2		e. <7 + <16 =180°		f. <16<6





14. If m<3=43°, find the measures of each angle. Fill them in on the picture and list them out in order. 
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Solve for x and justify your set up.
You must use only the following relationships:
Corresponding angles are congruent
Alternate interior angles are congruent
Alternate exterior angles are congruent
Consecutive interior angles are supplementary
Linear pairs are supplementary
Vertical angles are congruent
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15. 									16. 
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21. 								22. 
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Classify each angle as acute, obtuse, right, or straight.
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Choose the correct word to complete each sentence.

a. I two parallel lines are cut by a transversal, then alternate exterior angles are
(congruent/complementary/supplementary).

b. If two parallel lines are cut by a transversal, then corresponding angles are
(congruent/complementary/supplementary).

c. Tf parallel lines are cut by a transversal, then consecutive interior angles are
(congruent/complementary/supplementary).

d. In a plane, if a line is perpendicular to one of two parallel lines, then it is

(parallel/perpendicular/skew) to the other.
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In the figure, m£2 = 92 and m£12 = 74. Find the measure
of each angle.

1. 210 2./8
3.49 4./5
5. 211 6.213

Find x and y in each figure.

7.

Find m£1 in each figure.

9. 10.
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In the figure, m£3 = 43. Find the measure of
each angle.

7. £2 137 8. 4743
9. £10 137 10. £11 43
11. £13 43 12. £16 187

In the figure, m£1 = 50 and m£3 = 60. Find
the measure of each angle.

13. 24 50 14. £5 60
15. 22 110 16. £6 70 j
17. £7 110 18. «£8 120
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20 + 5x

6x +8
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17x-2\29x -2
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6x+ 14

68°
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x+123
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16x+2

15x+ 10
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x+81

70°
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1x-11

6x+4




image23.png




image24.png
43x+1

=2 +44x
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8x+11|7x+4
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In the figure, XP and XT are opposite rays.
(Lesson 14)

13. 1f m£SXT = 3a—4, mZRXS = 2a + 5, and
mZRXT = 111, find m£RXS. 22;49

18, 1f mZQXR = a + 10, m£QXS = 4a - 1, and
mZRXS =91, find mZQXS. 34; 135

Measure each angle and classify as right|
acute, or obtuse. (Lesson 14)

E F G

15. ZKFG 45°, acute 16. ZHFG 135°, obtuse
17. ZHFK 90°, right 18. ZJFE 90°, right

19. ZHF] 45°, acute 20. ZEFK 135°, obtuse
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Name each of the following in the figure at the right.

two pairs of congruent angles
a pair of acute vertical angles
a pair of obtuse vertical angles
four pairs of adjacent angles
two pairs of vertical angles
four linear pairs

mee xeFe

four pairs of supplementary angles

65°
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Name each of the following in the figure at the right.

two pairs of congruent angles
a pair of acute vertical angles
a pair of obtuse vertical angles
four pairs of adjacent angles
two pairs of vertical angles
four linear pairs

mee e Fe

four pairs of supplementary angles

65




